#### RESOLUTION NO. 2023-135

RESOLUTION OF THE TOWNSHIP OF LITTLE EGG HARBOR, COUNTY OF OCEAN, STATE OF NEW JERSEY, AUTHORIZING THE EXECUTION OF CHANGE ORDER NO. 1 (FINAL) TO THE CONTRACT FOR 2022 DRAINAGE IMPROVEMENT PROJECT TO WEST BAY CONSTRUCTION

WHEREAS, a contract was previously awarded to West Bay Construction for 2022 Drainage Improvement Project; and

WHEREAS, the original contract for said improvements was in the amount of \$386,947.75; and

WHEREAS, the governing body wishes to authorize Change Order No. 1, which will result in an increase of \$24,343.05 in the contract price, representing supplemental work and final as-built quantity adjustments as shown on Schedule A attached hereto and made a part hereof, which is an 6.29% increase for a new total of \$411,290.80; and

WHEREAS, this change order has been recommended by the Township Engineer; and

WHEREAS, it is the desire of the governing body to authorize the execution of this change order.

NOW, THEREFORE, BE IT RESOLVED, by the governing body of the Township of Little Egg Harbor, County of Ocean, State of New Jersey as follows:

1. That the governing body does hereby authorize the execution of Change Order No. 1, which will result in an increase of \$24,343.05 in the contract price, representing supplemental work and final as-built quantity adjustments as shown on Schedule A attached hereto and made a part hereof, which is an 6.29% increase for a new total of \$411,290.80.

## r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

- 2. That the Mayor is hereby authorized to execute and the Township Clerk to attest to, respectively, an addendum to the contract with West Bay Construction, in accordance with the provisions of this resolution.
- 3. That a Certificate of Availability of Funds executed by the Chief Financial Officer is annexed hereto. The following are the line item appropriations or ordinances which constitute the availability of funds for this contract:

AMERICAN RESCUE FISHDS AND CAPITAL ORD. 2020-14

4. That a certified copy of this resolution, together with a copy of Change Order No. 1, be forwarded to the Chief Financial Officer, Township Engineer and West Bay Construction.

#### CERTIFICATION

I, KELLY LETTERA, RMC, Municipal Clerk of the Township of Little Egg Harbor do hereby certify that the foregoing resolution was duly adopted by the Township of Little Egg Harbor Township Committee at a meeting held on the 13th day of April, 2023.

KELLY LETTERA, RMC

Township Clerk

Little Egg Harbor Township

rmshc

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A

MSA

98 East Water Street Toms River, NJ 08753

#### CERTIFICATE OF AVAILABILITY OF FUNDS

I, RODNEY R. HAINES, Chief Financial Officer for the Township of Little Egg Harbor, do hereby certify that adequate funds are available for an Addendum for Change Order No. 1(Final) with West Bay Construction for 2022 Drainage Improvement Project in the amount of \$24,343.05.

The funds which are available for this contract are found in the following line item appropriations or ordinances:

AMERICAN RESCUE FUNDS AND CAPTRIL ORD, 2020-14

RODNEY R. HAINES, Chief Financial Officer Township of Little Egg Harbor

MSA

r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

#### ADDENDUM TO CONTRACT

	THIS ADDEN	<b>DUM</b> made this	day	of	, 2	2023,
by and bety	veen the TOWNSI	IIP OF LITTLE I	EGG HARB	OR, a municipa	l corporation	on of
the State o	f New Jersey, havi	ng its principal of	fices located	at 665 Radio R	oad, Little	Egg
Harbor, No	ew Jersey, 08087,	hereinafter refer	red to as "T	Township," and	WEST 1	BAY
CONSTRU	JCTION, having it	principal address	at 133 Pleasa	nt Avenue, Abs	econ, NJ 0	8201
hereinafter	referred to as "Con	tractor."				

#### WITNESSETH:

WHEREAS, a contract was previously awarded to West Bay Construction for 2022 Drainage Improvement Project; and

WHEREAS, the original contract for said improvements was in the amount of \$386,947.75; and

WHEREAS, the governing body wishes to authorize Change Order No. 1(Final), which will result in an increase of \$24,343.05 in the contract price, representing supplemental work and final as-built quantity adjustments as shown on Schedule A attached hereto and made a part hereof, which is an 6.29% increase for a new total of \$411,290.80; and

WHEREAS, this change order has been recommended by the Township Engineer and agreed to by the contractor.

### NOW THEREFORE, be it agreed between the parties as follows:

1. The Township and the Contractor do hereby amend the original contract between the parties for the 2022 Drainage Improvement Project to provide for an increase of \$24,343.05 in the contract price, to a new adjusted total of \$411,290.80, representing

## r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

hereto and made a part hereof.	t quantity adjustments as shown on Schedule A attached be hereby authorize the execution of this addendum.
WITNESS & ATTEST:	TOWNSHIP OF LITTLE EGG HARBOR
KELLY LETTERA, RMC Township Clerk	By, Mayor
	WEST BAY CONSTRUCTION
Secretary (Seal)	ByPresident
MSA	

# r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

#### CHANGE ORDER NUMBER - 1 (FINAL)

Project 2022 DRAINAGE IMPROVEMENT PROJECT

Municipality TOWNSHIP OF LITTLE EGG HARBOR

County OCEAN COUNTY

Contractor WEST BAY CONSTRUCTION

133 PLEASANT AVENUE

ABSECON, NJ 08201

In accordance with the project Supplementary Specification, the following are changes in the contract. Location and Reason for Change (Attach additional sheets if required)

Changes required to relfect asObuilt quantities for the project, as well as additional storm drainage repairs on White Oak Lane and Wisteria Lane.

	ITEM NO. AND DESCRIPTION		QUANTITY &	UNIT	UNIT PRICE	AMOUNT
SUPP	LEMENTAL WORK			I What	2000 CONTRACTOR CONTRA	27.70/20/20/20/20
12	HMA MILLING IN PLACE, 12" THIC	K	1	SY	\$16.00	\$16.00
16	HMA 9.5M64 SURFACE COURSE,	1.5" THICK	9	TON	\$145.00	\$1,233.95
17	12" HDPE		6	LF	\$110.00	\$660.00
25	INLET, TYPE 'E'		1	UNIT	\$6,500.00	\$6,500.00
REDU	CTION					
2	INLET FILTER, TYPE 2, 4'X4'		10	UNIT	\$7.50	\$75.00
4	DRUMS		50	UNIT	\$5.00	\$250.00
6	TRAFFIC CONES		80	HOURS	\$89.33	\$7,146.40
7			1,000	DOLLARS	\$1.00	\$1,000.00
8	ASPHALT PRICE ADJUSTMENT		1,000	DOLLARS	\$1.00	\$1,000.00
11	FUEL PRICE ADJUSTMENT		62	SY	\$100.00	\$6,200.00
14	EXCAVATION, UNCLASSIFIED		23.07	TON	\$130.00	\$2,999.10
1.5	TACK COAT, 64-22		135	GAL	\$0.01	\$1.35
19	HMA 19M64 BASE COURSE, 2.5"	THICK	4	LF	\$275.00	\$1,100.00
20	CONCRETE HEADER CURB		1	LF	\$200.00	\$200.00
24	CONCRETE SIDEWALK, 4" THICK		1	UNIT	\$6,000.00	\$6,000.00
29	TRAFFIC MARKINGS, THERMOPLA	STIC	36	LF	\$100.00	\$3,600.00
31	TRAFFIC MARKINGS, THERMOPLASTIC		10	SY	\$125.00	\$1,250.00
EXTR/	WORK					
E-1.	WHITE OAK LANE PIPE REPAIR		1	LS	\$15,049.72	\$15,049.72
E-2	WISTERIA LANE - CURB AND APRO	N .	1 1	LS	\$15,881.87	\$15,881.87
E-3	SPRUCE DRIVE TREE REMOVAL		1	LS	\$6,950.00	\$6,950.00
E-4	LOUISIANA DRIVE INLET/PIPE REP	AIR	1	LS	\$8,873.36	\$8,873.36
Amount of Original Contract \$386,947.75		\$386,947.75		Supplemental/Ex	tra	\$55,164.90
	0-51/71/61/1775-17 <del>46</del> /61/2019/151/751/53/75156	(45/5/50 4/0/24/01/10/00)		Reduction		\$30,821.85
Adjust Orders	ed Amount Based on Change	\$411,290.80		Total Change		\$24,343.05
743730 T " THE 40 SAMEDING BY		6.29%				
	crease or (-) Decrease)					

Jason A. Worth, P.E., Township Engineer

(Presiding Officer)

Frank L. Corradetti, PE President 4/7/23

413/22

4-4-2023